This report contains the transfers results.

Contest Name Ward 8 - The Ferry

Valid Votes
Positions to be Filled
Quota

8,979 4 1,796

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Thomas BYRNE	Alba Party for independence	92
Kevin CORDELL	Scottish National Party (SNP)	1,806
Craig DUNCAN	Liberal Democrat Focus Team	3,112
Qaiser HABIB	Scottish National Party (SNP)	674
Mark PARSONS	Scottish Greens - Think Global Act Local	269
DEREK SCOTT	Scottish Conservative and Unionist	1,661
PHILIP SCOTT	Scottish Conservative and Unionist	407
Pete SHEARS	Scottish Labour Party	899
Carole SMITH	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	59
	Total	8,979

Candidate Kevin CORDELL Elected with 1,806 votes, being in excess of the quota of 1,796 Candidate Craig DUNCAN Elected with 3,112 votes, being in excess of the quota of 1,796

This report contains the transfers results.

## Stage 2 - Surplus of Craig DUNCAN

1,316.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas BYRNE	40	0.42287	16.91480
Transfer to Qaiser HABIB	343	0.42287	145.04441
Transfer to Mark PARSONS	306	0.42287	129.39822
Transfer to DEREK SCOTT	954	0.42287	403.41798
Transfer to PHILIP SCOTT	124	0.42287	52.43588
Transfer to Pete SHEARS	594	0.42287	251.18478
Transfer to Carole SMITH	67	0.42287	28.33229
No further preference	684	0.42287	289.24308
Not transferred due to rounding			0.02856
	Total		1,316.00000

This report contains the transfers results.

# Stage 3 - Surplus of DEREK SCOTT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Qaiser HABIB	8	0.13002	1.04016
Transfer to Mark PARSONS	8	0.13002	1.04016
Transfer to PHILIP SCOTT	1,556	0.13002	202.31112
Transfer to Pete SHEARS	28	0.13002	3.64056
Transfer to Qaiser HABIB	6	0.05498	0.32988
Transfer to Mark PARSONS	11	0.05498	0.60478
Transfer to PHILIP SCOTT	800	0.05498	43.98400
Transfer to Pete SHEARS	43	0.05498	2.36414
No further preference	58	0.13002	7.54116
No further preference	86	0.05498	4.72828
Not transferred due to rounding			0.00384
	Total		268.41798

This report contains the transfers results.

# Stage 4 - Surplus of Kevin CORDELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Qaiser HABIB	1,504	0.00553	8.31712
No further preference	102	0.00553	0.56406
Not transferred due to rounding			0.01282
	Total		10.00000

This report contains the transfers results.

#### Stage 5 - Exclusion of Carole SMITH

Clage 6 Exclasion of Carole Civil 111			07100101
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas BYRNE	3	1.00000	3.00000
Transfer to Qaiser HABIB	2	1.00000	2.00000
Transfer to Mark PARSONS	9	1.00000	9.00000
Transfer to PHILIP SCOTT	19	1.00000	19.00000
Transfer to Pete SHEARS	7	1.00000	7.00000
Transfer to Thomas BYRNE	2	0.42287	0.84574
Transfer to Qaiser HABIB	3	0.42287	1.26861
Transfer to Mark PARSONS	8	0.42287	3.38296
Transfer to PHILIP SCOTT	11	0.42287	4.65157
Transfer to Pete SHEARS	10	0.42287	4.22870
Transfer to PHILIP SCOTT	1	0.13002	0.13002
Transfer to Mark PARSONS	1	0.05498	0.05498
Transfer to Qaiser HABIB	1	0.00553	0.00553
Transfer to Mark PARSONS	2	0.00553	0.01106
No further preference	19	1.00000	19.00000
No further preference	33	0.42287	13.95471
No further preference	1	0.13002	0.13002
No further preference	2	0.05498	0.10996
No further preference	5	0.00553	0.02765
Not transferred due to rounding			0.00000
	Total		87.80151

This report contains the transfers results.

## Stage 6 - Exclusion of Thomas BYRNE

113.29818

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Qaiser HABIB	31	1.00000	31.00000
Transfer to Mark PARSONS	9	1.00000	9.00000
Transfer to PHILIP SCOTT	14	1.00000	14.00000
Transfer to Pete SHEARS	10	1.00000	10.00000
Transfer to Qaiser HABIB	9	0.42287	3.80583
Transfer to Mark PARSONS	2	0.42287	0.84574
Transfer to PHILIP SCOTT	3	0.42287	1.26861
Transfer to Pete SHEARS	6	0.42287	2.53722
Transfer to Qaiser HABIB	1	0.05498	0.05498
Transfer to PHILIP SCOTT	1	0.05498	0.05498
Transfer to Qaiser HABIB	11	0.00553	0.06083
Transfer to Mark PARSONS	7	0.00553	0.03871
Transfer to PHILIP SCOTT	1	0.00553	0.00553
Transfer to Pete SHEARS	2	0.00553	0.01106
No further preference	31	1.00000	31.00000
No further preference	22	0.42287	9.30314
No further preference	1	0.13002	0.13002
No further preference	3	0.05498	0.16494
No further preference	3	0.00553	0.01659
Not transferred due to rounding			0.00000
	Total		113.29818

Report Name: Transfers\_V0001\_Ward-8---The-Ferry\_06052022\_161500.pdf Created: 06-5-2022 16:15:00

This report contains the transfers results.

## Stage 7 - Exclusion of Mark PARSONS

422.86325

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Qaiser HABIB	139	1.00000	139.00000
Transfer to PHILIP SCOTT	8	1.00000	8.00000
Transfer to Pete SHEARS	72	1.00000	72.00000
Transfer to Qaiser HABIB	55	0.42287	23.25785
Transfer to PHILIP SCOTT	22	0.42287	9.30314
Transfer to Pete SHEARS	94	0.42287	39.74978
Transfer to PHILIP SCOTT	2	0.13002	0.26004
Transfer to Pete SHEARS	1	0.13002	0.13002
Transfer to Qaiser HABIB	1	0.05498	0.05498
Transfer to PHILIP SCOTT	3	0.05498	0.16494
Transfer to Pete SHEARS	1	0.05498	0.05498
Transfer to Qaiser HABIB	55	0.00553	0.30415
Transfer to PHILIP SCOTT	1	0.00553	0.00553
Transfer to Pete SHEARS	16	0.00553	0.08848
No further preference	68	1.00000	68.00000
No further preference	145	0.42287	61.31615
No further preference	5	0.13002	0.65010
No further preference	7	0.05498	0.38486
No further preference	25	0.00553	0.13825
Not transferred due to rounding			0.00000
	Total		400 06005

Total 422.86325

This report contains the transfers results.

# Stage 8 - Exclusion of PHILIP SCOTT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Qaiser HABIB	6	1.00000	6.00000
Transfer to Pete SHEARS	95	1.00000	95.00000
Transfer to Qaiser HABIB	7	0.42287	2.96009
Transfer to Pete SHEARS	40	0.42287	16.91480
Transfer to Qaiser HABIB	30	0.13002	3.90060
Transfer to Pete SHEARS	370	0.13002	48.10740
Transfer to Qaiser HABIB	16	0.05498	0.87968
Transfer to Pete SHEARS	175	0.05498	9.62150
Transfer to Qaiser HABIB	4	0.00553	0.02212
Transfer to Pete SHEARS	2	0.00553	0.01106
No further preference	347	1.00000	347.00000
No further preference	113	0.42287	47.78431
No further preference	1,159	0.13002	150.69318
No further preference	613	0.05498	33.70274
No further preference	4	0.00553	0.02212
Not transferred due to rounding			0.00000
	Total		762.61960

This report contains the transfers results.

## Stage 9 - Exclusion of Qaiser HABIB

1,043.30682

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Pete SHEARS	305	1.00000	305.00000
Transfer to Pete SHEARS	134	0.42287	56.66458
Transfer to Pete SHEARS	15	0.13002	1.95030
Transfer to Pete SHEARS	18	0.05498	0.98964
Transfer to Pete SHEARS	431	0.00553	2.38343
No further preference	547	1.00000	547.00000
No further preference	283	0.42287	119.67221
No further preference	23	0.13002	2.99046
No further preference	6	0.05498	0.32988
No further preference	1,144	0.00553	6.32632
Not transferred due to rounding			0.00000
	Total		1,043.30682